AW Y - /\ —FH—- =N
BE fk oo Wy AN - H ff =
201344 H HA
o A = (m) H o & (m)
Fifi ¥H ropm ropm—
A HE B 2 AT U A E B 2 AT
201344 H YRR G B2 E(%) 201344 H AT G B2 1(%)
HE B B K 21,081 21,081 80.80 23,797 23,797 93.76
fkoHE R OBE K 22,979 22.979 228.72 14,955 14,955 128.03
WAk v = LR SR BEHE 21,932 21,932 18.13 54,557 54,557 218.54
TT AT 7R BE K 0 0 0 0
mopg B R OBE K 118 118 118 118
Z O o BE HK 44,210 44,210 327.12 18,240 18,240 118.17
b = 110,320 110,320 64.66 111,667 111,667 144.16
0] A (%) 74.49 83.05
Al AE A OH B (%) 64.66 144.16

—ARAEEIE N B ARBELE 2




BE HC O o AN - H o &

201345 H HA
o A = (m) H o & (m)
fili £ T ropm—
U i B 2 FISRES \ A i B 2 A=A
201345 H YRR G B2 E(%) 201345 H AT G B2 1(%)
AR H H 24,983 46,064 100.15 24,090 47,887 113.44
Wk HE R % 18,861 41,840 164.71 12,468 27,423 114.48
WAk v = LR SR BEHE 219,226 241,158 158.93 196,324 250,881 418.09
TT AT w7 R BE K 0 0 0 0
mopg B R OBE KK 10 128 10 128
F O o BE O 7,221 51,431 153.70 12,007 30,247 99.05
A =8 270,301 380,621 148.33 244,899 356,566 227.53
0] A (%) 245.02 219.31
A AE A OH B (%) 314.34 309.02

—ARAEEIE N B ARBELE 2



BE HC O o AN - H o &

20134F-6 H HA
o A = (m) H o & (m)
fili £ T ropm—
A 2 AT S AT
2013F6A | SFERFE | grzpyy (o | 20137761 ERE | mzte(on)
iy H HE 37,247 83,311 119.77 17,208 65,095 96.05
Wk HE R % 37,024 78,864 223.54 14,839 42,262 124.06
WAk v = LR SR BEHE 40,113 281,271 172.60 65,711 316,592 287.63
TT AT 7R BE K 0 0 0 0
mopg B R OBE K 31 159 31 159
Z O o BE HK 22 875 74,306 104.08 14,849 45,096 107.76
A =8 137,290 517,911 152.69 112,638 469,204 184.90
0] A (%) 50.79 45.99
Al AE A OH B (%) 166.22 116.07

—ARAEEIE N B ARBELE 2



AW Y - /\ —FH—- =N
BE fk oo Wy AN - H ff =
201347 H HA
A & (m) H o & (m)
Fifi ¥H ropm SR
i B 2 A5 \ i 2 A5
201347 H WA S E B2 E(%) 201347 H AT G B2 1(%)
ik B B A 22,895 106,206 111.80 24,980 90,075 104.35
fkoHE R OBE K 15,158 94,022 178.68 15,226 57,488 131.07
YAk v = 48 SR BEHK 58,694 339,965 152.81 63,477 380,069 251.28
TT AT 7R BE K 0 0 0 0
mopg B R OBE K 27 186 27 186
Z O o BE HK 4,462 78,768 71.44 13,821 58,917 101.40
b = 101,236 619,147 128.90 117,531 586,735 172.81
0] A (%) 73.74 104.34
Al AE A OH B (%) 71.72 137.02
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AW Y - /\ s =N
BE fk oo Wy AN - H ff =
20134F-8 H HA
o A = (m) H o & (m)
i . A4 B4
2 AT A R S AT
201348 H WA S E B2 E(%) 201348 H WAERERE B3k (9)
A% A B A% 18,025 124,231 104.47 26,382 116,457 103.99
fkoHE R OBE K 12,336 106,358 166.16 14,915 72,403 118.43
YAk v = Vg SR BEAK 71,054 411,019 139.50 66,934 447,003 228.42
TT AT 7R BE K 0 0 0 0
mopg B R OBE K 26 212 26 212
F O o BE O 11,955 90,723 77.74 21,075 79,992 108.22
A =8 113,396 732,543 123.27 129,332 716,067 161.74
0] A (%) 112.01 110.04
Al AE A OH B (%) 99.55 125.32
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AW Y - /\ s =N
BE fk oo Wy AN - H ff =
201349 H HA
o A = (m) H o & (m)
fili £ T T
2 AT A R S AT
2013479 H WA S E B2 E(%) 2013479 H WAERERE B3k (9)
iy A e % 20,926 145,157 97.05 21,932 138,389 101.41
fkoHE R OBE K 16,532 122,890 157.94 13,428 85,831 116.91
oAb B = LR IR SR BE AR 168,412 579,431 132.00 132,879 579,882 186.79
TT AT w7 R BE K 0 0 0 0
mopg B R OBE KK 9 221 9 221
ZF O o BE O 25,675 116,398 92.63 15,960 95,952 107.48
A 2t 231,554 964,097 121.73 184,208 900,275 147.68
0] A (%) 204.20 142.43
Al AE A OH B (%) 117.10 110.40

—ARAEEIE N B ARBELE 2




BE HC O o AN - H o &

20134E10 H ]
o A = (m) H o & (m)
fili £ T T
U A B 2 A= U A i B 2 A=
2013410 A WA B E B2 ER(%) 20134E10 A | M4 E B2 1(%)
iy A e % 20,996 166,153 95.95 25,138 163,527 102.23
ko oHE R OBE K 13,815 136,705 140.09 17,159 102,990 118.23
b v = VR g SR BE R 53,766 633,197 128.89 70,144 650,026 180.87
TT AT 7R BE K 0 0 0 0
mopg E R OBE K 54 275 54 275
F O o BE O 5,339 121,737 81.92 18,216 114,168 111.55
A 2t 93,970 1,058,067 116.19 130,711 1,030,986 145.45
il A (%) 40.58 70.96
A AE A OH B (%) 79.20 131.75
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BE HC O o AN - H o &

20134E11 H ]
o A = (m) H o & (m)
fili £ P T
A R 2 AT A R 2 AT
2013411 H WA RE G B2 ER(%) 20134E11 A M4 ZE B2 1(%)
iy A B S 26,128 192,281 100.66 25,056 188,583 104.41
ko oHE R OBE K 17,533 154,238 138.83 20,117 123,107 120.38
WAk v = VAR SR BEHE 44,168 677,365 112.76 77,907 727,933 172.84
TT AT 7R BE K 0 0 0 0
mopg E R OBE K 292 297 292 297
F O o BE O 5,613 127,350 83.90 10,738 124,906 109.93
A 2t 93,464 1,151,531 109.19 133,840 1,164,826 142.46
il A (%) 99.46 102.39
A AE A OH B (%) 64.92 122.94

—ARAEEIE N B ARBELE 2




BE HC O o AN - H o &

20134E12 H ]
o A = (m) H o & (m)
fili £ T ropm—
U A B 2 A= U A i B 2 A=
2013412 1 WA B E B2 ER(%) 20134E12 7| M4 ZE B2 1(%)
iy A e % 19,174 211,455 97.97 19,416 207,999 102.79
ko oHE R OBE K 20,810 175,048 134.52 19,257 142,364 121.65
b v = VR g SR BE R 54,058 731,423 101.64 61,872 789,805 145.49
TT AT 7R BE K 0 0 0 0
mopg E R OBE K 0 297 0 297
F O o BE O 22,949 150,299 88.62 10,617 135,523 103.72
A = 116,991 1,268,522 102.70 111,162 1,275,988 128.51
il A (%) 125.17 83.06
Al AE A OH B (%) 64.79 63.44
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AW Y - /\ s =N
BE fk oo Wy AN - H ff =
20144F-1 H HA
o A = (m) H o & (m)
i . A4 B4
2 AT A R S AT
20144F1 H WA S E B2 E(%) 20144F1 H WAERERE B3k (9)
AR A e % 23,798 235,253 98.40 19,440 227,439 103.09
fkoHE R OBE K 17,604 192,652 131.39 16,344 158,708 119.27
oAb B = LR IR SR BE AR 61,387 792,810 105.12 50,606 840,411 145.41
TT AT 7R BE K 0 0 0 0
mopg B R OBE K 0 297 0 297
ZF O o BE O 23,767 174,066 84.49 14,169 149,692 105.88
A =8 126,556 1,395,078 103.65 100,559 1,376,547 128.28
0] A (%) 108.18 90.46
Al AE A OH B (%) 114.24 125.47
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AW Y - /\ s =N
BE fk oo Wy AN - H ff =
20144F-2 H HA
o A = (m) H o & (m)
fili £ T ropm—
i B = AT A R S AT
20144F-2 H WA S E B2 E(%) 201442 H WAERERE B3k (9)
iy A e % 20,782 256,035 96.19 24,889 252,328 101.26
fkoHE R OBE K 15,373 208,025 129.23 14,321 173,029 116.90
YAk v = Vg SR BEAK 83,534 876,344 101.10 64,088 904,499 128.28
TT AT 7R BE K 0 0 0 0
mopg B R OBE K 15 312 1248.00 15 312 1248.00
F O o BE O 9,580 183,646 86.79 14,036 163,728 102.33
A = 129,284 1,524,362 101.25 117,349 1,493,896 118.35
0] A (%) 102.16 116.70
Al AE A OH B (%) 81.00 62.00
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BE HC O o AN - H o &

20144F-3 H HA
o A = (m) H o & (m)
fili £ T ropm—
e FISRES \ A i B 2 A=A
201443 H WA S E B2 E(%) 201443 H WAERERE B3k (9)
S A e H 23,674 279,709 96.25 24,289 276,617 98.88
fkoHE R OBE K 13,348 221,373 129.15 16,771 189,800 116.30
oAb B = LR IR SR BE AR 33,529 909,873 93.29 81,071 985,570 127.73
TT AT 7R BE K 0 0 0 0
mopg B R OBE K 0 312 567.27 0 312 567.27
ZF O o BE O 3,372 187,018 86.47 9,427 173,155 95.05
A 2t 73,923 1,598,285 96.65 131,558 1,625,454 116.37
0] A (%) 57.18 112.11
A AE A OH B (%) 49.91 97.85

—ARAEEIE N B ARBELE 2




